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Example - 2
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Example - 3
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POLL QUESTION - |

“x >y, (FMEML IG? Twokng Oubside e box

"X

=y
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X <100

YOL A6

An open circle means that
the value is not included:

xX>2

X is greater than 2

X =3

A filled in circle means that
the value is included:

x is greater than or equal to 2

O >

|
I
3

x is less than or equal to 6

l<x<é6

X is greater than
1, but less than or
equal to 6.
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POLL QUESTION - 2
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x>y
x+20>y+20
x—20>y—20
x-20>vy-20

X
xS Y
20 20

x>y
x+ (—20) >y + (-20)
x—(—20) >y —(—-20)

x-(—20) <y-(-20)
X < y
—20  —20
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POLL QUESTION - 3
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POLL QUESTION - 4
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